AR B HEABRER— B (FR28FK)
(BFI484E2 A 17 H MERRF S 5555 SR % % & D IE BTN AR D HIE A 20 58 B I IS <HE)

ETRRELVI—184F) (HAL mg/Q)
HETE H EHLHE

N let =T i WS S L I 1 AR | ~tiven| @SR | 2T I P Bz [N I

2 raean| {bEW [ {EEW (L&Y [{bEm [{LEW | L&Y [ tEY TFLU|=F Lo | ran=s
suwznancs[0.00580F| 0.3 L4 F|0.3LL | 1EAR [1.5BAF[0.3LAF| 1EAF [0.0032F[0.38L F [0.1LAF| 3LAF |0.3LLF
H28 . 5.11|< 0.0005 [< 0.0005 |< 0.009 [< 0.03 |[< 0.1 [< 0.05 < 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
H28 . 7.20]< 0.0005 [< 0.0005|< 0.009 [< 0.03 |[< 0.1 [< 0.05 < 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
H28 . 8.17|< 0.0005 [< 0.0005 |< 0.009 [< 0.03 |[< 0.1 [< 0.05 < 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
H28 .11 .29|< 0.0005 [< 0.0005 |< 0.009 [< 0.03 |< 0.1 [< 0.05 < 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
H28 .12 . 14|< 0.0005 [< 0.0005 |< 0.009 [< 0.03 |[< 0.1 [< 0.05 |< 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
H29 . 2. 8|< 0.0005 < 0.0005|< 0.009 [< 0.03 [< 0.1 [< 0.05 < 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
(EXREHBEV2—251F] (HAZL mg/Q)

HETE H EHLHE

wER |7 AER | arwa| & | AR swives| BEE [T - Pl T ERR ] N

A raan| (LAWY [ LEM LAY | ILEW | IbEw [{LEW | 1L EW TFLU|=F L | ranzy
mimsnzo=210.0058 F[0. 3L F(0.38LF| 1EAF |1.5BAF|0.3LL | LEATT [0.003XF(0.30L F|0.1LAF| 3LAF |0.3L4F
H28 . 4.20[< 0.0005| 0.0008|< 0.009 [< 0.03 |[< 0.1 [< 0.05 < 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
H28 . 6 .22|< 0.0005 [< 0.0005 |< 0.009 [< 0.03 |[< 0.1 [< 0.05 < 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
H28. 9. 8|< 0.0005 < 0.0005 |< 0.009 [< 0.03 |[< 0.1 [< 0.05 < 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
H 28 .10 . 12|< 0.0005 < 0.0005 |< 0.009 [< 0.03 |< 0.1 [< 0.05 |< 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
H29 . 1.11|< 0.0005 [< 0.0005|< 0.009 [< 0.03 |[< 0.1 [< 0.05 < 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
H29 . 3.15|< 0.0005 [< 0.0005 |< 0.009 [< 0.03 |[< 0.1 [< 0.05 < 0.03 [< 0.1 |<0.001|< 0.03 |< 0.01 [< 0.10 [< 0.01
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(FTEREL2—HRIE) (HAT mg/Q)
T E T H &AL
wp |7 KB [roal g [ERERR [sae] 8GR | ST [ g [M7ER[Fas L]
raean| {LEW [ baY [{LED ke [ {bad [{baW [k &Y TFLU|TFLo|ranes
smsnan=[0.00580 F[0.3LA F|0.3LA | 1LATF [1.5EAF[0.3LAF| 1LATF [0.00324 F[0.35L F[0.1LAF| 3LATF |0.3L4F
H28 . 4 .11]< 0.0005 [< 0.0005|< 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 [< 0.1 [<0.001[< 0.03 < 0.01 [< 0.10 |< 0.01
H28 . 5.20|< 0.0005 [< 0.0005 (< 0.009 | 0.06 [< 0.1 [< 0.05 [< 0.03 [< 0.1 [<0.001[< 0.03[< 0.01 [< 0.10 |< 0.01
H28. 6. 3|< 0.0005[< 0.0005|< 0.009| 0.04 [< 0.1 [< 0.05 [< 0.03 [< 0.1 [<0.001[< 0.03 < 0.01 [< 0.10 |< 0.01
H28 . 7. 7|< 0.0005[< 0.0005|< 0.009 [< 0.03 [< 0.1 [< 0.05 [< 0.03 |< 0.1 [<0.001[< 0.03[< 0.01 [< 0.10 |< 0.01
H28 . 8. 8|< 0.0005[< 0.0005(< 0.009 | 0.15 [< 0.1 |< 0.05 [< 0.03 |[< 0.1 [<0.001[< 0.03 [< 0.01 [< 0.10 |< 0.01
H28 . 8.29|< 0.0005 [< 0.0005 < 0.009| 0.05 [< 0.1 |< 0.05 [< 0.03 |[< 0.1 [<0.001[< 0.03 < 0.01 [< 0.10 |< 0.01
H 28 . 10 . 24|< 0.0005 [< 0.0005 |< 0.009[< 0.03 [< 0.1 |< 0.05 [< 0.03 |[< 0.1 [<0.001 [< 0.03 [< 0.01 [< 0.10 |< 0.01
H28 . 11 . 11|< 0.0005 [< 0.0005 |< 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 |[< 0.1 [<0.001[< 0.03 [< 0.01 [< 0.10 |< 0.01
H 28 . 12 . 12|< 0.0005 [< 0.0005 |< 0.009 [< 0.03 [< 0.1 < 0.05 [< 0.03 |[< 0.1 [<0.001 [< 0.03 [< 0.01 [< 0.10 |< 0.01
H29. 1. 6/<0.0005[< 0.0005(|< 0.009| 0.06 [< 0.1 [< 0.05 [< 0.03|< 0.1 [<0.001[< 0.03[< 0.01 [< 0.10 |< 0.01
H29 . 2.16]< 0.0005 [< 0.0005 < 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 [< 0.1 [<0.001[< 0.03 < 0.01 [< 0.10 |< 0.01
H29 . 3. 6/< 0.0005[< 0.0005|< 0.009 [< 0.03 [< 0.1 [< 0.05 [< 0.03 |< 0.1 [<0.001[< 0.03[< 0.01 [< 0.10 |< 0.01
(FTEREL2—EIE) (AL mg/Q)
T B &AL
wa g [ KR [oisval g TEBEEswas] B8R [T g [W7ErprezeliLen]
raeen| fbEY [bE ke (ke [ {ba ke [{bEaY TFLU|F Lo | sanns
minznses 0.00580F|0.3 80 F(0.304 F | 1EATF |1.5LLF|0.38LF | 1LAF 0.00384F[0.35L F[0.1LLF| 3LAF [0.3LAF
H28 . 4 .22|< 0.0005 [< 0.0005 < 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 [< 0.1 [<0.001[< 0.03 < 0.01 [< 0.10 |< 0.01
H28 . 5.17|< 0.0005 [< 0.0005 < 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 |[< 0.1 [<0.001[< 0.03 [< 0.01 [< 0.10 |< 0.01
H28. 6. 3|< 0.0005[< 0.0005(< 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 [< 0.1 [<0.001[< 0.03[< 0.01 [< 0.10 |< 0.01
H28. 8. 8/<0.0005[ 0.0008(< 0.009 < 0.03 [< 0.1 |< 0.05 [< 0.03 < 0.1 [<0.001[< 0.03[< 0.01 [< 0.10 [< 0.01
H28 . 8.25/< 0.0005 [< 0.0005 (< 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 |[< 0.1 [<0.001[< 0.03 < 0.01 [< 0.10 |< 0.01
H28 . 9 .15/|< 0.0005 [< 0.0005 < 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 |[< 0.1 [<0.001[< 0.03 [< 0.01 [< 0.10 |< 0.01
H28 .10 . 7|< 0.0005 [< 0.0005 < 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 |[< 0.1 [<0.001[< 0.03 [< 0.01 [< 0.10 |< 0.01
H 28 . 11 . 24|< 0.0005 [< 0.0005 [< 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 {[< 0.1 [<0.001 [< 0.03 [< 0.01 [< 0.10 |< 0.01
H 28 .12 . 12|< 0.0005 [< 0.0005 [< 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 {[< 0.1 [<0.001 [< 0.03 [< 0.01 [< 0.10 |< 0.01
H29 . 1.20|< 0.0005 [< 0.0005(< 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 |[< 0.1 [<0.001[< 0.03 [< 0.01 [< 0.10 |< 0.01
H29 . 2.16/< 0.0005 [< 0.0005 < 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 |[< 0.1 [<0.001[< 0.03 [< 0.01 [< 0.10 |< 0.01
H29 . 3.21|< 0.0005 [< 0.0005 < 0.009 [< 0.03 [< 0.1 |< 0.05 [< 0.03 [< 0.1 [<0.001[< 0.03 < 0.01 [< 0.10 |< 0.01
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